. T )& AR
3L 7 7 A4 E % () e SHM6HFE
Wz s a0 o alTR e | RO R g | T | IR RIS
Alo]o]|o| 1 [iESRE S51 30 4 | R13.12.31 | BEIE [mrscspms H14.01.01 | &%
Aloo]|o| 1 [iESRE S52 30 4 | R13.12.31 | BEIE [mrscsmm H14.01.01 | &%
Aloo]|o| 1 [iESRE S53 30 4 | R13.12.31 | BEIE [mrscsmm H14.01.01 | &%
Alo|o|o| 1 [iESRE S54 30 4= | R13.12.31 | BEIE [mrscspm H14.01.01 | &%
Alo|o|o| 1 [iESRE S55 30 4= | R13.12.31 | BEIE [mrscspm H14.01.01 | &%
Alo|o|o| 1 [iESRE S56 30 4= | R13.12.31 | BEIE [mrscspm H14.01.01 | &%
Alo|o|o| 1 [iESRE S58 30 4 | R13.12.31 | BEIE [mrscspm H14.01.01 | &%
Alo|o|o| 1 [iESRE S59 30 4 | R13.12.31 | BEIE [mrscspm H14.01.01 | &%
AlO[O]|0]| 1 [iEaHkk HO06 30 4F | R13.12.31 | BEFE |astrareiot H14.01.01 | %
AlO|O|O|1 [iEaHk H09 30 4F | R13.12.31 | BEIE |astrareiot H14.01.01 | %
AlO|O| 0|1 [iEaHk H10 30 4F | R13.12.31 | BEFE |astrareiot H14.01.01 | %
AlO|O|O| 1 [iEaHk H11 30 4F | R13.12.31 | BEIE |astrereiot H14.01.01 | %
AlO|O|O|1 [iEaHk H12 30 4F | R13.12.31 | BEIE |astrareiot H14.01.01 | %
AlO[O|O]| 1 [EaH H13 30 4F | R13.12.31 | BEIE |astrareiot H14.01.01 | %
AlO[O|O]|1 [iEa H14 30 4F | R14.12.31 | BEIE |astrereiot H15.01.01 | #%
AlO[O|O]| 1 [iEa H15 30 4F | R15.12.31 | BEIE |astrzresot H16.01.01 | %
AlO[O|O]| 1 [iEa H16 30 4F | R16.12.31 | BEIE |astrzre ot H17.01.01 | %
AlO[O|O]| 1 [iEa H17 30 4F | R17.12.31 | BEIE |astrzresot H18.01.01 | %
AlO[O|O]| 1 [iEaH H18 30 4F | R18.12.31 | BEIE |astrzreiot H19.01.01 | %
AlO[O|O]| 1 [iEaH H19 30 4F | R19.12.31 | BEIE |astrzreiot H20.01.01 | %
Alo|o|o]|1 S H20 30 4F [ R20.12.31 | BEHE |watmrveior H21.01.01 | %




AlO[O]|0]| 1 [iEaHkk H21 30 A | R21.12.31 | BEFE |watrervexon H22.01.01 | &
AlO[O]|0]| 1 [iEakk H22 30 A | R22.12.31 | BEFE |watrervexon H23.01.01 | &
AlO[O]|0]| 1 [iEakk H23 30 4F | R23.12.31 | BEFE |wismsrexor| H23.01.01 | H24.01.01 | #K
AlO[O]|0]| 1 [iEakk H24 30 4F | R24.12.31 | BEFE |wsmsrexor| H24.01.01 | H25.01.01 | K
AlO[O]|0]| 1 [iEakk H25 30 4F | R25.12.31 | BEFE |wsmsrexor| H25.01.01 | H26.01.01 | K
AlO[O]|0] 1 [iEaHkk H26 30 4 | R26.12.31 | BEFE |wamsvexor| H26.01.01 | H27.01.01 | #K
AlO[O]|0] 1 [iEakk H27 30 4F | R27.12.31 | BEFE |wssvexor| H27.01.01 | H28.01.01 | #&
AlO[O]|0]| 1 [iEaHkk RO1 30 4% | R31.12.31 | BEFE |#assrexor| H31.01.01 | R02.01.01 | #K
AlO[O]|0]| 1 [iEaHkk RO3 30 4% | R33.12.31 | BEFE |#asrexob| R03.01.01 | RO4.01.01 | #K
AlO[O]|0]| 1 [iEaHkk R05 30 4% | R35.12.31 | BEFE |#asvrexob| R05.01.01 | R06.01.01 | &
Al0|0|0]|2 |/ rER S50 30 4 | R13.12.31 | BEIE [mrscspm H14.01.01 | &%
Al0|0|0]|2|mEErER S51 30 4 | R13.12.31 | BEIE [mrcspm H14.01.01 | &%
Al0|0|0]|2|mErER S52 30 4 | R13.12.31 | BEIE [mrcspm H14.01.01 | &%
Al0]|0] 0|2 |[FEsTEdH S53 30 4 | R13.12.31 | BEIE [mrcspm H14.01.01 | %
Al0|0|0]|2|mErER S54 30 4 | R13.12.31 | BEFE [mrcspm H14.01.01 | %
Al0|0|0]|2|mErER S56 30 4 | R13.12.31 | BEFE [mrcspm H14.01.01 | %
AlO|0|0]|2|FEEsCER S57 30 4 | R13.12.31 | BEIE [mrscspm H14.01.01 | %
AlO|0|0]|2|FEEsER S58 30 4= | R13.12.31 | BEIE [mrscspms H14.01.01 | %
Al0[0]|0]2|mEESCER HO06 30 4 | R13.12.31 | BEFE |ostervesoh H14.01.01 | %
Al0[0]|0]2|mEESCER HO09 30 4 | R13.12.31 | BEFE |ostervesoh H14.01.01 | %
Al0]|0]|0|2|FEsCER H10 30 4 | R13.12.31 | BEFE |ostrervesoh H14.01.01 | %
Al0]|0]|0|2|FEsCER H11 30 4 | R13.12.31 | BEFE |ostrervesoh H14.01.01 | %
Al0[0]|0]2|mEESCER H12 30 45 | R13.12.31 | BEHE |wtrervesoh H14.01.01 | &




Al0|0| 0|2 |FiECER H13 30 A | R13.12.31 | BEFE |watrervexon H14.01.01 | &
Al0|0| 0|2 |FiECER H14 30 A | R14.12.31 | BEFE |watrervexon H15.01.01 | &
Al0|0| 0|2 |FiECER H15 30 A | R15.12.31 | BEFE |watrervexon H16.01.01 | &
Al0|0| 0|2 |FiECER H16 30 A | R16.12.31 | BEFE |watrervexon H17.01.01 | &
Al0|0| 0|2 |FiECER H17 30 A | R17.12.31 | BEFE |wstrevexon H18.01.01 | &
Al0]|0]|0|2|FECER H18 30 A% | R18.12.31 | BEFE |watrervexoh H19.01.01 | %
Al0]|0]| 0|2 |FECER H19 30 A% | R19.12.31 | BEFE |watrervexoh H20.01.01 | %
Al0]|0|0|2|FiECER H20 30 - | R20.12.31 | BEFE |matrervexon H21.01.01 | %
Al0]|0]|0|2|FECER H21 30 - | R21.12.31 | BEFE |watrervexon H22.01.01 | %
AlO[0]|0]2|mEECER H22 30 4F | R22.12.31 | BEHE |matrerveson 123.01.01 | %
AlO[0]|0]2|mEECER H23 30 A | R23.12.31 | BEFE |#asrervexor| H23.01.01 | H24.01.01 | #K
Al0|0]|0|2|FEsCER H24 30 4% | R24.12.31 | BEFE |wasesreaor| H24.01.01 | H25.01.01 | #&
Al0]|0]|0|2|FECER H25 30 4% | R25.12.31 | BEFE |wasesrexor| H25.01.01 | H26.01.01 | #&
Al0|0]|0|2|FEECER H26 30 4% | R26.12.31 | BEFE |wasssrexor| H26.01.01 | H27.01.01 | #&
Al0|0]|0|2|FEECER H27 30 4F | R27.12.31 | BEFE |wasssrexor| H27.01.01 | H28.01.01 | #K
Al0|0]|0|2|FEECER H28 30 4% | R28.12.31 | BEFE |wasesrexor| H28.01.01 | H29.01.01 | #K
AlO|0|0]|2|FEEsCER H29 30 A% | R29.12.31 | BEFE |=asrervexor| H29.01.01 | H30.01.01 | #K
AlO|0|0]|2|FEEsER H30 30 A% | R30.12.31 | BEFE |=asrervexor| H30.01.01 | H31.01.01 | #K
AlO|0|0]|2|FEEsER RO1 30 A% | R31.12.31 | BEFE |=asrervexor| H31.01.01 | R02.01.01 | #K
AlO|0|0]|2|FEEsER R0O2 30 A% | R32.12.31 | BEFE |=arervexor| RO2.01.01 | R03.01.01 | #K
Al0]|0]|0|2|FEsCER RO3 30 4% | R33.12.31 | BEFE |#asxvrexob| R03.01.01 | RO4.01.01 | #
Al0]|0]|0|2|FEsCER R04 30 4% | R34.12.31 | BEFE |#asxrexob| R04.01.01 | R05.01.01 | #
AlO[O|0]2|mEECER R05 30 4F | R35.12.31 | BE3E |wamsvexor| R0O5.01.01 [ RO6.01.01 | #%




Al0|0| 0|2 |FiECER R06 30 4 | R36.12.31 | BEFE |wissrexob| R06.01.01 | RO7.01.01 | K
AlO| 1|01 [AT7E XdES# 547 30 A | R13.12.31 | BEFE |watrervexon H14.01.01 | &
AlO| 1|01 [AT7E XdES# S59 30 A | R13.12.31 | BEFE |watrervexon H14.01.01 | &
AlO[ 1|01 [AJTHE XilEE HO1 30 4 | R13.12.31 | BEFE [matrevesor H14.01.01 | &
AlO[ 1|01 [AJTHE XilEEK HO03 30 4 | R13.12.31 | BEFE [matrevesor H14.01.01 | &
AlO[ 1|01 [ATHE XisEEF# HO7 30 A% | R13.12.31 | BEFE |watrervexon H14.01.01 | %
AlO[ 1|01 [ATHE XisEEFHK HO09 30 A% | R13.12.31 | BEFE |watrervexon H14.01.01 | %
AlO|1]0] 1 [ARFE XA ESER H10 30 A5 | R13.12.31 | BEHE |trervesoh H14.01.01 | &
AlO[ 1|01 [ATHE XisEEF#K H16 30 A% | R16.12.31 | BEFE |watrervexoh H17.01.01 | %
A0 1|01 [ARTFE XM EER H25 30 4% | R25.12.31 | BEFE |#asrervexor| H25.01.01 | H26.01.01 | #K
Al0|1]0]|6 |fFIkEEH S51 30 4 | R13.12.31 | BEIE [mrscspm H14.01.01 | &%
Al0|1]0]|6 |l mEEH S54 30 4 | R13.12.31 | BEIE [mrcspm H14.01.01 | &%
Al0|1]0]|6 |k mEEH S56 30 4 | R13.12.31 | BEFE [mrcspm H14.01.01 | %
Al0|1]0]|6 |k EEH S57 30 4 | R13.12.31 | BEIE [mrcspm H14.01.01 | &%
Al0|1]0]|6 |l mEEH S58 30 4 | R13.12.31 | BEIE [mrcspm H14.01.01 | %
Al0|1]0]|6 |l mEEH S59 30 4 | R13.12.31 | BEIE [mrcspm H14.01.01 | %
AlO0|1]0]6 |fFIHEimEERR S62 30 4= | R13.12.31 | BEFE [mrcspm H14.01.01 | %
AlO0|1]0]6 |fFIHEimEERR HO06 30 4= | R13.12.31 | BEIE [mrcspm H14.01.01 | %
AlO0|1]0]6 |fFIHEimEERR HO7 30 4 | R13.12.31 | BEIE [mrscspm H14.01.01 | %
AlO0|1]0]6 |fFIHEimEERR HO08 30 4= | R13.12.31 | BEFE [mrcspm H14.01.01 | %
AlO0|1]0]6 |FIHEERR HO09 30 4= | R13.12.31 | BEIE [mrcspm H14.01.01 | %
AlO0|1]0]6 |fFIHEEERR H10 30 4= | R13.12.31 | BEIE [mrcspm H14.01.01 | %
AlO0|1]0]|6 |fFIHmERR H11 30 45 | R13.12.31 | BEHE |rcEpE H14.01.01 | &




Al0]|1]0]|6 |fFIkEEH H12 30 4 | R13.12.31 | BEIE [mrscspms H14.01.01 | &%
Al0]|1]0]|6 |fFIkEEH H13 30 4 | R13.12.31 | BEIE [mrscspms H14.01.01 | &%
Al0|1]0]|6 |fFIkEEH H14 30 4 | R14.12.31 | BEIE [mrscspms H15.01.01 | %
A0 1]0]|6 |fFIkEEH H15 30 4 | R15.12.31 | BEIE [mrscspm H16.01.01 | %
Al0|1]0]|6 |fFIkEEH H16 30 4= | R16.12.31 | BEIE [mrscspm H17.01.01 | &%
Al0]|1]0]|6 |[fFIkEERH H17 30 4= | R17.12.31 | BEIE [mrscspm H18.01.01 | &
Al0|1]0]|6 |fFIkEExH H18 30 4 | R18.12.31 | BEIE [mrcspm H19.01.01 | &%
Al0|1]0]|6 |[fFIkEEH H19 30 4 | R19.12.31 | BEIE [mrscspm H20.01.01 | &%
AlO|1]0]6 |fFIHmERR H20 30 - | R20.12.31 | BEFE |matrervexon H21.01.01 | %
AlO0|1]0]6 |fFIHmERR H21 30 A% | R21.12.31 | BEFE |watrervexoh H22.01.01 | %
Al0|1]0]6 |fFIHmER H22 30 A | R22.12.31 | BEFE |watrervexoh H23.01.01 | %
Al0|1]0]|6 |fFIHmERR H23 30 4% | R23.12.31 | BEFE |wasesrexor| H23.01.01 | H24.01.01 | #K
Al0|1]0]6 |fFIHmERR H24 30 4F | R24.12.31 | BEFE |wareaor| H24.01.01 | H25.01.01 | #&
Al0|1]0]|6 |fFIHmERR H25 30 4F | R25.12.31 | BEFE |wasssrexor| H25.01.01 | H26.01.01 | #&
Al0|1]0]|6 |fFIHmERR H26 30 4% | R26.12.31 | BEFE |wasesrexor| H26.01.01 | H27.01.01 | #&
Al0|1]0]|6 |fFIHmERR H27 30 4% | R27.12.31 | BEFE |waesrexor| H27.01.01 | H28.01.01 | #K
AlO|1]0]|6 |l mERR H28 30 4% | R28.12.31 | BEFE |wasesrexor| H28.01.01 | H29.01.01 | #&
AlO|1]0]6 |l mERR H29 30 4% | R29.12.31 | BEFE |#aseerexor| H29.01.01 | H30.01.01 | #&
Al0|1]0]|6 |fFIHmERR RO1 30 4% | R31.12.31 | BEFE |#assrexor| H31.01.01 | R02.01.01 | #
A|0|1]|0]6|flHEmEER RO2 30 4F | R32.12.31 | FEZE |wisr+rior| R02.01.01 | R03.01.01 | %
A[0] 1|06 |flHEER RO3 30 4F | R33.12.31 | BE#E |wissvexor| RO3.01.01 | R0O4.01.01 | %%
AlO|1]|0|7 I EER H27 10 4% | RO7.12.31 | BEHE [matesvesor| H27.01.01 | H28.01.01 [ #K
AlO| 1|07 BIHEER H28 10 47 | R08.12.31 | BE#HE [mamsvesor| H28.01.01 | H29.01.01 |  #K




A0 1] 0|7 BB ek H29 10 4 | R09.12.31 | BEFE |wetmsvesr| H29.01.01 | H30.01.01 | K
AlO|1]0]| 7| fRiBER RO1 10 4F | R11.12.31 | e [sasrresor| H31.01.01 | RO2.01.01 | &
A0 10| 7| —fhim e RO5 10 4F | R15.12.31 | BE#E |we@svexor| R05.01.01 [ R06.01.01 |  #&
AlO[1]|0]| 7|k R06 10 4% | R16.12.31 | BE3E [#xt&xvesor| R06.01.01 | RO7.01.01 | %
AlO[1]|0]|8|—fiximiER R0O2 54F | R07.12.31 | BEZE [wetsvrexor| R02.01.01 | R0O3.01.01 | %
AlO[1]|0]|8|—fiximiER RO3 54F | R08.12.31 | BEZE [mamrvexor| RO3.01.01 | R04.01.01 | #&
AlO|1]0]|8 | —imeE R05 54F | R10.12.31 | BEZE |sassresor| R05.01.01 | R06.01.01 | %
AlO[1]|0]|8|—fximiER R06 54F | R11.12.31 | BEZE [mamrvrexok| R06.01.01 | RO7.01.01 | #&
A0 1|09 |—MximEER R04 34F | R07.12.31 | BEZE [memsvexor| R04.01.01 | R0O5.01.01 | #%
AlO[1]|0]|9|—fimiEk RO5 34 | R08.12.31 | BEZE [wtxvexok| R05.01.01 | R06.01.01 | #&
AlO|1]|1]0|—fimiER R06 1 % | RO7.12.31 | BEHE [wasrvexor| R06.01.01 [ RO7.01.01 [ #K
AlO|1]|1]5 [{BEn%EkH R04 5 4F | R09.12.31 | BEZE |7atsxrexor| R04.01.01 | RO5.01.01 | #&
AlO|1]1]6 |[{mEn%Eks R04 3 4F | RO7.12.31 | BEZE |7atsxvreaob| R04.01.01 | RO5.01.01 | #K
AlO|1]1]6 |[{mEn%Eks R0O5 3 4F | R08.12.31 | BEZE |watsxvrexor| R05.01.01 | R06.01.01 | #K
AlO|1]1]6 |[{mEn%Eks R06 34 | R09.12.31 | BEZE |7atsxreaob| R06.01.01 | RO7.01.01 | #K
AlO| 1|17 |[i@EnsEis R06 1 % | R07.12.31 | BEHE [wasrvexor| R06.01.01 [ RO7.01.01 [ #K
Al0|2]0] 2 |FBEBERE RO4 3 4E | R07.12.31 | FEZE |wirvraor| R04.01.01 | R05.01.01 | %
Al0|2]0] 2 |FBEBERE RO5 3 4 | R08.12.31 | BEFE |wir+ra-h| R05.01.01 | R06.01.01 | &
Al0]|2]0] 2 |[FBBDLER R06 3 4F | R09.01.01 | PEHE |wirvesok| R06.01.01 | R07.01.01 |  #&
Al0|2]0|6|3CETFANEPLEE SR 0 4R BEEE STy R
Al0| 2] 1|5 | CEREE-BEHE RO2 54 | R07.12.31 | BEZE |wisxvesob| R02.01.01 [ R0O3.01.01 | #%
Al0| 2] 1|5 | CEREE-BEHE RO3 54 | R08.12.31 | BEZE |whisxrvesvh| R03.01.01 [ R04.01.01 | #%
Al0| 2| 1|5 | CEREE -BEHE RO4 54 | R09.12.31 | BEZE |smxvexor| R04.01.01 | R05.01.01 | %%




OE K S s e aTEL ey | AR e | T2 | PRI RS
Alo|2]1]5 FBEE RO5 5 4F | R10.12.31 | BEZE [wmr+rixok| R05.01.01 | R06.01.01 | &
Alo|2]1]5 e B E R0O6 545 | R11.12.31 | BE=E |smsvexor| R06.01.01 | RO7.01.01 | %%
AlO|7]|0]| 1 [ER525 H i R0O6 1 4 | R07.12.31 | BE3E |#ssxvresok| R06.01.01 | RO7.01.01 | &
Alo|9]o0f1 AR H16 30 4E [ R16.12.31 | BEHE |wisri sk H17.01.01 | &
Altl2]o]1 TR RO4 34E | RO7.12.31 | BE#e [7A652h | R04.01.01 | R0O5.01.01 e
All|2]0]1 TR RO5 3 4F | R08.12.31 | FEHE |etizarsm| R05.01.01 | R06.01.01 | meeis
All|2]0]1 R4 RO6 3 4F | R09.12.31 | FEZE |etizarsm| R06.01.01 | RO7.01.01 | meis
Allf2]0]2 =3 #UECEDS 0 4F BEIE Wkt Fob 4T
Al2f0f0]1 5 18 N H06 30 4% | R13.12.31 | BEFE |wire stk H14.01.01 | #&
Al2(0f0]1 5 18 N HO7 30 4% | R13.12.31 | BEFHE |wre itk H14.01.01 | #&
Al2(0f0]1 B SIR= 754 HOS 30 4% | R13.12.31 | BEFHE |wre itk H14.01.01 | &
Al2]0]0f1 EBGIpAIE35 HO09 30 4 | R13.12.31 | BEIE [wisre ok H14.01.01 | %
Al2]0]0f1 EBGIpAIE3 5 H10 30 4 | R13.12.31 | BEIE [wissre ok H14.01.01 | %
Al2]0]0f1 EBGIpSIE35 H11 30 4 | R13.12.31 | BEIE [wissre ok H14.01.01 | %
Al2]0]0f1 EBGIpSIE35 H12 30 4 | R13.12.31 | BEIE [wisre ok H14.01.01 | %
Al2]0]0f1 EBGIpAIE35 H13 30 4 | R13.12.31 | BEIE [wisre ok H14.01.01 | %
Al2]0]0]|1 B A R H14 30 A | R14.12.31 | BESE [wisrre ok H15.01.01 | &
Al2]0]0]|1 B R H15 30 A% | R15.12.31 | BESE [wisrre ok H16.01.01 | &
Al2]0]0]|1 B R H16 30 A% | R16.12.31 | BEFE [wisrre ok H17.01.01 | &
Al2]0]0]|1 B R H17 30 AF | R17.12.31 | BESE [wsrre ok H18.01.01 | &
Al2]0]0]|1 S o H18 30 A% | R18.12.31 | BEFE [wisrre ok H19.01.01 | &
Al2]0]0]|1 S o H19 30 A% | R19.12.31 | BEFE [wsrre ok H20.01.01 | &
Al2f0f0]1 )18 N T H20 30 4F | R20.12.31 | BESE |whisrve ok H21.01.01 | #&




Al2[0(0] 1| A g FLEhiEzEHR H21 30 4F | R21.12.31 | BEFE |whsre ik H22.01.01 | %%
Al2]10]0| 1| AR H22 30 4F | R22.12.31 | BEHE [wierre ot H23.01.01 | %%
Al2]10]0| 1| AR H23 30 4E | R23.12.31 | pEsE [wmsvexor| H23.01.01 | H24.01.01 | #%
Al2]0[0] 1 [ A5 RB)EmERK H24 30 4F | R24.12.31 | BEHE [womsvexor| H24.01.01 | H25.01.01 | #%
A[2]0]0] 1| A RaEhimkn T H25 30 4F | R25.12.31 | BEZE [vomrvexor| H25.01.01 | H26.01.01 |  #k
A 2[00 1| A= FEhmEnEH H26 30 4E | R26.12.31 | FEZE |wissrrror| H26.01.01 | H27.01.01 | %
A 2[00 1| A= FEhmEn T H27 30 4E | R27.12.31 | FEZE |wissrraor| H27.01.01 | H28.01.01 | %
Al2]0[0] 1 [ A5 RE)EmEH H28 30 4F | R28.12.31 | BEFE [wmvexor| H28.01.01 | H29.01.01 |  #%
A 2[00 1| A= FEhmEnEHK H29 30 4E | R29.12.31 | FEZE |wissvraor| H29.01.01 | H30.01.01 | %
A 2[00 1| A= FEhimEnEH H30 30 4E | R30.12.31 | FEZE |wissvrxor| H30.01.01 | H31.01.01 | %
Al2[0]0] 1| A\FRBh @ EH RO1 30 4F | R31.12.31 | BEZE [wmerrexob| H31.01.01 | R02.01.01 | #&
A[2[0(0] 1| A= FLdEhimEnEH# R02 30 4E | R32.12.31 | FEZE |wiss+rior| R02.01.01 | RO3.01.01 | %
A 2[00 1| A= FLEhimEnEH RO3 30 4E | R33.12.31 | FEZE |wiss+rior| R03.01.01 | RO4.01.01 | %
Al2]|0[0] 1 [ AgSEhEmEH R04 30 4F | R34.12.31 | BEFE [wm=veiob| R04.01.01 | R0O5.01.01 |  #%
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